
L’arbre	
  du	
  vivant	
  

~	
  95%	
  des	
  espèces	
  pluricellulaires	
  sont	
  
sexuées	
  



Comment	
  on	
  fait	
  les	
  bébés?	
  
1-­‐	
  la	
  meiose	
  



Comment	
  on	
  fait	
  les	
  bébés?	
  
2-­‐	
  les	
  sexes	
  



Le	
  coût	
  de	
  la	
  meiose	
  



Le	
  coût	
  des	
  mâles	
  



Et	
  la	
  recherche	
  d’un	
  partenaire…	
  

•  …	
  nécessite	
  du	
  temps	
  et	
  des	
  ressources!	
  
•  CompéGGon	
  entre	
  mâles	
  (développement	
  de	
  
caractères	
  sexuels	
  secondaires	
  -­‐>	
  sélecGon	
  
sexuelle)	
  

•  Développement	
  de	
  caractères	
  coûteux	
  pour	
  
aLrer	
  les	
  pollinisateurs	
  chez	
  les	
  plantes	
  
(pétales,	
  nectar…)	
  



De	
  nombreuses	
  espèces	
  de	
  pluricellulaires	
  sont	
  
capables	
  de	
  reproducGon	
  asexuée	
  

•  Stolons,	
  Gges	
  rampantes,	
  tubercules	
  chez	
  les	
  
plantes	
  (-­‐>	
  bouturage)	
  

•  Champignons:	
  rhizomes,	
  spores	
  asexuées	
  
•  Animaux:	
  	
  

–  pucerons	
  

•  Certaines	
  espèces	
  sont	
  connues	
  pour	
  n’avoir	
  
qu’une	
  reproducGon	
  clonale:	
  
–  Certains	
  champignons,	
  fougères,	
  insectes	
  poissons,	
  
repGles…	
  

–  RoGfères	
  bdelloïdes	
  	
  



Quel	
  est	
  le	
  succés	
  évoluGf	
  des	
  espèces	
  
asexuées?	
  

•  La	
  totalité	
  des	
  espèces	
  asexuées	
  
pluricellulaires	
  dérivent	
  d’ancêtres	
  sexuées	
  

•  Elles	
  sont	
  en	
  général	
  d’appariGon	
  très	
  
récentes	
  

•  (elles	
  conservent	
  des	
  reliquats	
  de	
  sexualité.	
  
Ex:	
  lezard	
  foueYe-­‐queue)	
  

•  Paradoxe	
  :	
  il	
  existe	
  un	
  énorme	
  avantage	
  a	
  être	
  
asexué	
  (à	
  court	
  terme),	
  mais	
  il	
  semble	
  que	
  le	
  
succès	
  à	
  long	
  terme	
  soit	
  très	
  faible	
  



La	
  reine	
  rouge:	
  courir	
  pour	
  rester	
  à	
  la	
  
même	
  place	
  

-­‐  «	
  Mais,	
  Reine	
  Rouge,	
  c'est	
  étrange,	
  nous	
  courons	
  vite	
  et	
  le	
  paysage	
  
autour	
  de	
  nous	
  ne	
  change	
  pas	
  ?	
  »	
  	
  

-­‐  «	
  Nous	
  courons	
  pour	
  rester	
  à	
  la	
  même	
  place.	
  »	
  





Recombinaison	
  et	
  associaGon	
  d’alleles	
  
avantageux	
  

Exemple	
  de	
  la	
  resistance	
  aux	
  parasites	
  



Mais	
  différentes	
  échelles	
  de	
  temps	
  

•  Les	
  femelles	
  parthénogénéGques	
  envahissent	
  
une	
  populaGon	
  en	
  quelques	
  dizaines	
  de	
  
généraGon	
  

•  La	
  résistance	
  à	
  un	
  nouveau	
  pathogène	
  peut	
  
meYre	
  beaucoup	
  plus	
  longtemps	
  à	
  évoluer	
  

•  Avantage	
  à	
  court	
  terme	
  du	
  sexe?	
  (qui	
  soit	
  
valable	
  pour	
  toutes	
  les	
  espèces)	
  



Cycle	
  de	
  vie	
  du	
  puceron	
  



Hivers	
  et	
  mainGen	
  du	
  sexe	
  

•  Seuls	
  les	
  oeufs	
  peuvent	
  résister	
  aux	
  hivers	
  froids	
  
•  Les	
  individus	
  (et	
  donc	
  la	
  reproducGon	
  par	
  
parthénogénèse)	
  peuvent	
  cependant	
  résister	
  aux	
  
hivers	
  doux	
  

•  Après	
  une	
  succession	
  d’hivers	
  doux,	
  on	
  observe	
  
une	
  augmentaGon	
  des	
  formes	
  uniquement	
  
parthénogénéGques	
  

•  Un	
  hiver	
  rigoureux	
  élimine	
  ces	
  formes	
  et	
  on	
  
revient	
  au	
  cycle	
  sexué	
  



Mille	
  raisons	
  de	
  faire	
  du	
  sexe	
  

•  On	
  pense	
  aujourd’hui	
  que	
  chaque	
  espèces	
  
sexuée	
  à	
  une	
  raison	
  proximale	
  de	
  faire	
  du	
  
sexe	
  (un	
  pression	
  de	
  sélecGon	
  à	
  court	
  terme)	
  

•  Celle	
  qui	
  n’en	
  ont	
  pas	
  finissent	
  pas	
  disparaître	
  
(sélecGon	
  au	
  niveau	
  des	
  espèces!)	
  

•  Ou	
  bien	
  elles	
  font	
  du	
  sexe	
  autrement:	
  
roGfères	
  bdelloïdes	
  	
  



Transfert	
  horizontal	
  de	
  gènes	
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